

4 . 1 0 . 2 1

I do

H	T	O				
	5	8				
+	4	6				
	1	4	(8 + 6)			
	9	0	(50 + 40)			
	0	4				

We do

H	T	O				
	8	5				
+	3	5				
	1	0	(5 + 5)			
1	1	0	(80 + 30)			
1	2	0				

You do

H	T	O				
	7	4				
	5	7				
	1		(4 + 7)			
1	2	0	(70 + 50)			
1	3	1				

I know that $7 + 4 = 11$ by
 $7 + 3 = 10$ so $7 + 4$ must
 equals 11 and I know that
 $70 + 50 = 120$ by $70 + 40 = 110$
 because $7 + 4 = 11$ and
 you times it by ten and
 $7 + 5$ must equal 12 and
 you do the same thing
 times it by ten then it
 equals 120 then add the
 ten and the 10 and it is 130